ERoN’ ATRD

HOLD DOWN TOGGLE CLAMPS 6802 No.E-9477

B IV E E R 26802

$S400 ESE

[Z1be i

3

p

N © 00 o I

77T 6802-1.3.4.6

11y -
I . /
‘ ‘/‘/ / f/' ‘//
W >2 - e~
Pt e &
©
2
o
"""""""""" B O |
HEFOH 6802-2.5
me A B . C D E F G H 1 :J X L ™M N O P P a
T 6802-1 | 5 38 160 45 19 14 - 32 10 55 - 265 - 50120 95 - 2~ 9
6802-2 6 : 51:20.0: 55:25: 20 :30: 40: 12 : 6.0:12.5: 34.0:32.0: 5.0:13.0:105°:60°: 5~14
""" - 68023 | 8 80 200 75 43 27 - 50 18 75 - 440 - 6.0 160 105 60" 8~20
R 6802-4 | 10 100 320 85 61 30 - 68 20 130 - 580 - 80 220 105 60°. 5~33
"""""""""" 6802-5 | 14 142 450 85 88 40 64 76 25 95 31.5 665 655 10.0 31.0 115° 60° 8~45
e 6802-6 | 14 116550513 90 : 55 - 12030 245 - 106 : - :10.0:35.5 140° 60°:17~74
------------------- *AEARER SO ETEL.  (6802-145N
Vot R B iR
___________________ W
TR S we = *K?’kN - R 2kx2%  Eikg
R 992317 6802-1 0.6 1.1 M 5x0.8 X 30 60x108  0.11
R 992318 6802-2 0.8 12 M 6x10 x 35 78x146  0.18
"""""""""" 992319 6802-3 1.2 25 M 8x1.25X 45 112x205  0.41
SRR O 992320 6802-4 1.7 3.0 © M 8X1.25X 65 = 140%x244 = 063
------------------- 992321 6802-5 3.0 5.0 M12x1.75% 80 195%302 1.48
LI 992322 6802-6 34 5.5 © 0 MI12X1.75%X110  © 230370 © 2.20

http://www.nabeya.co.jp



S5400

ORUTEELTEFMAIERIENEN, AIHILIREME R

e

B M
JLLC
BRTR
e B : E { F ¢ G ¢ H 1 f J i K il CON
68025-2 51 ¢ 20 25 1 20 ¢ 39 i5~14° 12 60 32 5 105" 60°
68025-3 .80 0 20 - 43 0 27 50 8~20 18 @ 75 44 6 1 105° . 60°
68025-4 1100 = 32 61 30 0 67 5~33 20 130 58 = 8 105" 60°
¥ AR IR M BT T 1L
[ pop e
e - KEFTKN SR EE X B X K
B LI o : o ) L2KX2H HEitkg
992323 68025-2 1.0 1.2 M6X1.0 X35 78%146 0.18
992324 68025-3 1.4 2.5 M8X1.25X45 112x205 0.47
992325 68025-4 2.0 3.0 M8X1.25X65 140%244 0.69

AEER THCADHE. HITEFTIA,

N © oo on I EHIR B 2k

BT O

REHT

KT RFHMY



